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Chapter 7
Convert the following from radians to degrees.
[
_3_”: 08 _5_7[.:2250 1L:7 1:3‘!0
5 ' 4 3 6
167 o 237 45° 67r 97 °
— = —_— = 27 - 270° = =8
5 320 o =31Ls 7 21¢ > 810
Convert the following from degrees to radians. _

T 5w 27 2r
30°=_% 100° =1 120°=_3 150° =_6
210° = _fa 265° =_36 315° =_ 4 325° =_36_

Find the exact value of éach of the following.

T 7 E 4 = L 11z - L |
cosZ=_0 sinz =_ 2 cos—~ = 2 sin— = _ 3_
-2 3 3 6

: SR F) |
tanST” - -\ 003%75 =" tan%r = \I—;'z SinZT” =

Graph the followmg equatlon

y =2cos(6 +—)+1
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Graph the followmg equatlon
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Given that the cosa = -z and sine >0, find the exact values of the following = 5

3y
4

trigonometric functim:ﬁ.
a— -— __.-—-133 Lb- + 1:- —j—
sing = 1 tana = 4 49 11
- _\‘b’ ’Lh
What is the exact ciorddiggte of the point where theXerminal side of the angl&Ts Jocated ___'H : 33
- _J3 )
on the circle? ( = j_.i_) Y 2{7-‘% = ’.1""

(cosa, si'n'al)

sin &
hﬂ« = oS Ak PbSuTIVE Blc
23 IN GuADRANT
5 = ™
I

Write an equation of a periodic function based on its description.

a) The graph of y =cosx has been vertically shifted up 4 units.

Q:cos_(x)-\-‘\ \,/;us(x)k.k_

b) The graph of y =cosx has been compressed so that it has a period of z

.

6

b
¢) The grapho COSX hasan E{nplitude of 4 and is reflected across the

x-axis. | \/ = a-cos (X)
- i! ==4co5(x)

d) The graph of y =cosx has been shifted to the right % units.

&:@5&@\13

y:(,cs ()(‘-\'\)

Given the equation ¥ = 2x> —12x4 1

Complete the square to find its grapfling form:
GeAPH 0R\GINAL $

GRAPAING Fort WHEN VYo

y:: 2)(2 —I2x+lo

-0 - 10
y-io = Ax*-12Ax

.Lg_.+\/')o = 1(X°’~fo_ﬁ_)

!

MALE SweE 1T
| FislA$H T | yl_"e - 2()(-3)1
\S THE SAmME PARABoLR) Y ,
What are the roots? | What is the Sffint? Equation for Lineof | What is the vertex?
. Symmetry? .
(5.0) (1,0) (0,10) X=3 (3,-8)
What is the domain? What is the range?
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~ Chapter 8

Simplify the following expressions

_ 7 ==Y 5i.3i
(L4)l" i3 (L4)15 (V3 - 3iV3 15, %
IS 3[-2\/?;:'3'3
i) €0) (l) () *TE @
G @Y 72020 5] @
Lt 2(05)* 4q flfl;—l‘lt-‘lu 94,39.‘;!?,‘._4—/6:.‘

v

Sketch the graph to fit each number line, and then write a possible equation.

| neat

/ ,,ncm

Possible Equation: \/ = -—X\(Xf\- S ) (7"'2')

VN

: linesr Posi TIVE :

) (‘ AV

3 B.u h‘ce
. - X 2
Possible Equation: =X ()( "'7') (X° 2) (X"q )

Decide if each of the following equations is a ponnornlal Ifit is, state the degree. If it
 {s-not, explain how you know.

2
. _ 3 _ a2, 4
P(x) = 3x(X —2)(x +5) Q)= X7 =342 70
P(X) 15 & PoruMemIAL. QG 15 2e¥ o pelynemickble
Q - -
4% Joscee X 15 20 cad pilyromial da rot

Write a polynomial equation for a graph that passes through the point (2, 9) and has
single roots where x = -4 & -1, and’_a double root where x = 3. .

VAs a\(xw)(xn)(x—S)
qs ala) (8
q = alL)3)0)

9= 182 o

N= 3 (xw) (x*\)(x—s)
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Use Polynomial division to g ide:

2x° +52); ;x 12 qx 4)(‘\_4!3 wErax+4

2% -3) 2> ¥ 5x* - 4x—-12.

774 ] ux | o ~(2x7- 3x%

ax | 2] 8x?* 8x Bx* - 4xX

"3 \alin (30
2w ¥ 5 -Hx -2 8x /L

-(8x-12)

(8}

Find the cubic equation in standard form with mtegral coefficients that has 6 and

2+i asroots. RDOTS' -l ) Q+L Q L &— musT ALSe BE A RopT

() £ (4 3

iN PAIRS/
= (x+b)(x—2¢¢)(x-z+é) ,
N = O) (27 <« SNl =y

24, 2%
\/ Y rAK -HK +30 (‘e.n\wr‘m’ =5

240,37

7YY
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br-Hac

| Determine the nature of the roots (real or complex) of the following equations.

r

]

3a°-10a+11= l 2 x*+8x+16 = n
()= 4(2)(1) 2{@ ()~ 4(\) %) D:g&x.‘m_

loo- 132 = *32 b4 - 64 =|o [

No ¥- ¥ NERTEX

) -403)2) (R Reak Pats )| (205)™-4(5)(2) |LeaL

3x*-6x+2=0 5a% +2410a+2=0

LE RooT

3e-24 =|12 2 x-iat, . L}° 40 D ¥ VERTEX

Chapter 7 & 8 Checkpoints:

~Chapter 7 - Checkpoint 7A

Finding the x- and y- Intercepts of a Quadratic Function (p811)

Chapter 7 - Checkpoint 7B
Completing the Square to Find the Vertex of a Parabola (p813)

Chapter 8 - Checkpoint 8A

Solving and Graphing Inequalities (p816)

Chapter 8 - Checkpoint 8B
Solving Complicated Equations (p819)



